o7

,mo
BK
A

N
A

A

rH

;O_|

Njo

vl
B
Tor
Hlo
N
Xfo

"4

o

N

SR

o

A
-

A
ol
Hj
ol
sl

ShAl 8.

2hg

e

l

Sol 9f 10™e|Y?

etet. 4! 5

=
=

i} : o]4

[e2]
=1




= A% A, Bl tiate] n(A) = 18, n(B) = 35°]1, ANB = A% ©, n(AU

B) —n(ANB)E oot



3.

FAFA={5 7,10}, B={r—4, -2, v+ 1} o] A2 ZE o}, z 9] Zt&
afolat,



BAYG U = {alok 6 olote] A4} o) & 22T 4, B of dhatol
A=B={1},.B-A={3}, 4B ={4) S0, BT 4 &7

@ {1,2} @ {1,2,5} ® {1,2,6}
@ {1,2,5,6} ® {1,2,3,6}



A B7tn(A) =17 n(ANB)=6,n(AUB) =29 4 o,
o] Y9 /45 Aotoiet,



6. 7 AU 5o ol 5 Hrk AL % Ae] A4Q5] AFL A 2 B W, n(A)
£ Fstolel.



the % 22 AL nE vEH? (Y 27)

® n({0}) =1 @ {a, b} €{a, b, ¢}
® oe{l, 2 3} @ n({0}) <n({1})
® n({1, {2, 3}, 4, 5}) =4



o5 ¥l trolo] IO A n(U) = 45, n(A4) = 17

)

n(B) = 24, n(AN B) = 8¢ o, AAg R

st Werel daol A4E Tatola




T X
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